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COMMUNITY DEVELOPMENT AND EXTENSION

WORK—I, Paper—VII
Semester—V

Time Allowed : Three Hours] [Maximum Marks : 36

Note :— The candidates are required to attempt two questions each

IL.

III.

VL

from Sections A and B. Each question carries 5 marks.

Section C will be compulsory. Each question carries 2 marks.
SECTION—A
Discuss scope and importance of Community Development. 5
Explain community development programmes in India. 5
Explain the following institutions :

(i) Village Panchayat

(i) Village School. 5

Describe role of Home Science Education in Community

Development. 5
SECTION—B

Define ‘Extension Education’. What are its objectives ? 5

Write a detailed note on CARE. 5

11957-NH/CS/210/YC-9319 1 [P.T.O.



VII. Discuss about the role of Krishi Vigyan Kendra in Rural Development.
5

VIII. Explain the role of various voluntary agencies in Community

Development. 5
SECTION—C
IX. Explain the following :

(i) Expand CSWB

(i) Role of UNICEF in Child Development

(iii) Functions of CARE

(iv) Objectives of ‘ICDS’

(v) Grass root principle of Extension Education

(vi) Define Community Development

(vi) CSWB

(viii) Problems in Developing Community Development
Programmes. 8x2=16
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